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1.

Which of the following compounds doos
nol answer the'iodoform’ test 7

(A) CHLCH(OH)CH,CH,

(B}. CH,CH(OH)CH,

(C) CH,COC H:_JI

(D) CH,COOMW

Which of the following observations is

incorract with regard to ethanal 7

(&) It restores pink color guilckly to
Schiff's reageani

(B} It gives silvar-mirror on treatment
with ammoniacal silver nitrate
solution

{C) It reduces Fehling's solution lo
torm red precipitate of cuprous
oxlde

(D I gives a sweel smell of an ester
when heated with ethanoic acid in
prasance of an acid

While preparing Lassaigne’s reagant,

the organic compound 8 fused with

sodium metal. Here, the metal sodium

is used mainly becauss

{A) sodium is effective to bring aboul
destructive reduction of organic
compounds forming ionicinonganic
salts like sodium cyanide, sodium
sulphide and sodiurm halide

(B) sodium is a soft and shining metal

(C) sodium is a cheap metal and easily
available

(D) sodium readily reacts with walter 1o
farm soluble sodium hydroxide

Which of the following organic
compounds will give fouling smell of
isocyanide on heating with
trichloromethana and alcoholic
potassium hydroxide 7

(A} p-Toluidine

iB) Glycine

(C) N-Methylaniine

(D} N-Meathyl-o-methylaniline

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

‘Silver salt’ method is usaed for the
determinabon of molecular mass of

(A) Aniline (B) Benzoic acid
(C) Ethyl benzoate (D) Benzamide

A liquid organic compound that
decomposes at its bolling point, can
conveniently be purified by

(A) simple distillation

(B) vacuum distillation

() fractional distillation

(D) all the above methods

Sodium fusion extract prepared from
‘sulphanilic acid' gives blood-red
coloration with the reagent
(A) Mohr's salt
(B) Ferric chioride
{C) Silver nitrate -

I : Yy
(D) Barium chlonde =&

Which one of the following stateme

is Incorrect with respect 14

“Polylacetyleng)” 7

{A) Polylacetylene) is synithesized b
the polymerization of acetylen
using Ziegler-Natta catalyst

(B) In polylacetylene), presence o
conjugated double bonds cause
i1 to conduct eleatricity

{C) N is used in the preparation g
glectrodes for batleries, p
measuring devices and electron
devices

(O} Itis not a synthetic melal
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1.

Which of the following compounds doas
not answer the'iodoform’ test 7

(A) CH4CH{OH)CH,CH,

(B) CH,CH{OH)CH,

(C) CH,COCH,

(D) CH,COOH

Which of the following observations is
incorrect with regard o ethanal 7

(A) It rastores pink color quickly to
Schiff's reagent

It gives silver-mirmor en trealment
with ammoniacal silver nitrate
solution

It reduces Fehling's solution to
form red precipitate of cuprous
oxide

It gives a sweet smell of an estar
whan heated with ethanoic acid in
prasenca of an acid

(B}

(G

(D)

While preparing Lassaigne's reagent,
the organic compound is fused with
sodium metal. Here, the metal sodium
s used mainly because

(A) sodium is effective to bring about
destructive reduction of organic
compounds forming lonicinorganic
salts like sodium cyanide, sodium
sulphide and sodium halide
sodium |s a soft and shining metal
sodium is a cheap metal and easily
available

sodium readily reacts with water to
form soluble sodium hydroxide

(B)
{C)

{s}

Which of the following organic
compounds will give fouling smell of
isocyanide on heating with
trichloromethane and alcoholic
polassium hydroxide 7

(A} p-Toluidine

(B) Glycine

{C) N-Methylaniline

(D) N-Methyl-o-methylaniline
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‘Silver salt’ method Is used for the
determination of molecular mass of
(A) Aniline (B) Benzoic acid
{C) Ethyl benzoate (D) Benzamide

A liguid organic compound that
decomposas at its boiling point, can
conveniently be punified by

(A)
(B)
(C)
(D]

simple distillation
vacuum distilation
fractional distillation
all the above methods

Sodium fusion extract prepared from
‘sulphanilic acid' gives blood-red
coloration with the reagent
(A) Mohr's sall

{B] Ferric chlonde

{C) Silver nitrale -
(D) Barium chloride &

Which one of the following statemenis
is incorrect with respect Id
“Polylacetylens)” ?
(A) Polylacetylene) is synthesized b
the polymerization of aceatyle
using Ziegler-Natia catalyst

In poly(acetylene), presence o
conjugated double bonds cause
it i condect electneily

(B)

(C) I is used in the preparation ¢
alactrodaes for batteries, p
measurng devices and electron
devices

{0} Itis not a synthetic metal
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9.

10.

12,

Which one of the following statements
is wrong about Thermmoplastics’ 7
{A) They have ordered crystalline

regions and amorphous
non-crystalline regions or both

They are hard at room temperature
bul on heating they becomea soft
enough to be molded

They possess glass transition
temperature, above which they are
rubbery in nature

They are insoluble in common
arganic solvents and infusible

iB)
(€)
(D)

Natural rubber obtained from the rubber
trea, 'Havea Brasiliensis’ consists of
(A) ecispoly(isoprens)

(B) frans-poly(isoprene)

{C) poly(iscbutylene)

(D} polylchloroprena)

A polymer sample contains two
monodisperse systems with molecular
massas 30000 andg 50000, I its waight
average molecular mass is 42500,
what would be the ratio in which the two
monodisparse systems {%urnber of
molecules) are present in il

(A} 1:1 B 1:2
(<) 1:3 D) 1:4

Which of the following statemants is
Incorrect with regard to «-amino acids 7

(A) An a-amino acid is a carboxylic
acid thal contains an amino group
atits o position

They are the building blocks ol
peptides and protains

An o-amino acid may exist as a
2witterion under suitable conditions

Except glycine, all other - amino
acids are optically inactve

(B)
(C)

(D)

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

4

| 00 0 000 0
13.

14.

15,

16,

The 1soslectric pont of alanine is 6.0. If
its PKg, valueis 2.3, then its PK,, valug
will be

(Ay 7.0
(C) 8.7

B) 37
(D) 8.3

The critical micelle concentration is
(A) the concentration at which the rus
solution is formed
concentratlion at which micelis
formation starts from surfaclan
molacules

the concantration at which
dissoclation of surlactant starts
the concentration at which
surfactant precipitates from the
solution

(B)

{C)

(D)

Which of the following statements |
correct for glucose 7

{A) It restores pink color of Schiff
reagent readily

It reacts with 2 4-DNP to gi
reddish brown precipitate
Glucose penta- .doas no
react with hydro ire

It reacts with sodium bisulphite 2

ammonia to give respect
addition compounds

(B)
(C)

(D)

The presence of pnmary alcoholic gros
in the structure of glucose s confirmed &
(A) its oxidation with bromine water
give glucanic acid which on Tu
oxldation with concentrated nil
acid to yield glucarnic acid

the fact that a solution of glucos
in an nert solvenl! becomey
affervescent upon the treatme
with freshly cut sodium

the fact that a solution ol it beco
colored upon the addition of neut
termnc chioride solution

(D) s reaction with Tollen's reagent

(B)

(C)
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17.

18.

18

20.

Which of the following reaction is not
possible during calalytic reforming of
patrol in petroleum indusiry 7

(A) CHy(CH,),2CHy —» CH4{CH,)CH,
+ GH4(CH,),CH = CH,

Methycyclohexane —» Toluene +3H,
r-Octane — 2 5-Dimethylhexans

(B)
(C)

(D) mHeptane — Toluene + 4H,

The tendency of gasoline to knock
depends on whether it comprises
(i} straight chain paraffins, (i) branched-
chain paraffins, (ki) olefins, (iv) aromatic
hydrocarbons. The correct order of
dacreasing knocking tendency is given by
(A (iv) = (i) > (ii) = (i)
(B) {iiiy> {iv) > (i) = ()
(C) (i) > (i) = (i) > (iv)
(D) (i) = (i) > (it} >(iv)

In which of the following molecules,
intermolecular hydrogen bonding Is
possible 7 '

(A) Nitrobenzene

(B) N N-Dimethylaniline
(G} N-Methylaniline
(D) Trimathylamine

Arrange the following compounds in the
dacraasing order of their bond angles:

(i} Methane (i)
(Hi) Trimathytaming
(A) (i) = (if) > (iil)
{C} (i) = (1) = {iii}

Ammania and

(B) (i) > (iii) = {ii)
() (i) = (i) = (i

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click
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23.

24,

The major product formed when
p-chiorotoluene is treated with sodamide
in presance of liquid ammonia, is

(A) m-Toluidine

(B} o-Toluiding

(C} p-Toluidine

(0} p-Chlorobenzylamine

Arranga the following compounds in the
order of their decreasing base-strength
Aniline (1), o-Methylaniline (11},
m-Meathylanitine {111}, and
p-Methylaniling (1)

(A) (V)= (1) =)= (I

(B) () = (VY= (Y = (1)

(G} ()= {1y > (IV) > (1)

(D) ()= (= (1) = {Iv)

Identify the compound E in the following
reaction schemsa,
G“HE HMOA 4 H25ﬂ¢JPEM . B

, . o
_ShiMoiHeal | G £

NaNO3 /HOI/ 0'C 5 D
__tpalyrigtiieam. B
(A} Chilorobenzene
(B) p-Nitrophenaol
{C) Benzene sulphonic acid
(D) Phenol

The reagent used in the reaction:
CoH:Br — C,HCN, is

(A) alcoholic KGN

(B) alcoholic AgCH -

(C) alkaline CHCI,

(D) agueous HHa




17,

18.

18

e et A I g A

fos 8 & el sfafFm ava 49 2 2

(A) CHA(CH)CHy — CH4(CH,)CH,
+ CH4{CH,),CH = CH,

(B) Methycyclohexane —» Toltene + 3H,

(C) n-Octane — 2.5-Dimeathylhexane

(D4 n-Heptane — Toluene + 4H,
frifem & memer %) W 38 = ol
werdl o il 7m forer g & () T2 9
fofe (i) F9u-=a TiEA (i) /AT
(iv) W TEs RErEA | ETEEH # Wi
FHEA TR FH

(A) (iv) = (iil) = (i) = (i)

(B) (iif) = (iv) > (i) > (i)

(C) (i) = () > (i) > (iv)

(D) (1) = (i) = (i} >{v)

forer 9 & T o 0 sr-anfvay 21eA
A HAT R 7

(A) TR

(B) N,N-Dimethylaniline

(C) N-Mathylaniline

(D) ST

Forest YTt =1 37k =4 701 o HEd FH A
ey () e () ke S (i
Sk

(A} >0y = iy (B (i) = (hi) > (1)
(C) (i) = (i) = (i) (D) (W)= (i) = (i)
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drames | sifufsa 6 @i B @ wa
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(A} m-Toluidine

(B) o-Toluidine

(C) p-Toluidine

(D} p-Chicrobenzylamine

Py T #) 39% YE-EmEE & 920
0 3 T

Aniline (1), o-Methylaniline (Il), m-
Methylaniline (1Il), 37 p-Methylaniline (IV)
(AY IV = (00 = (1) = (1)

B ()= (V)= (1) = ()

(Cy (1= (1= (V)= (I}

(o) (1) =y = (1) = (V)

Fi= srfirfen sl E i sraet
CaHy— 03+ HpsOg iheet . B

Bn A HCHf Heat E

......

NaMOs (HEIO'E . D

HpS04 /HO fwarm &
(A) aeiiEfEE
(B) pgrHAtel
(C) Wiea HeTR v

(D)

CoHBr —» G H CN sfufin § 37m
o sy R

(A) SFreRTEiies KON

(B} ¥e=hieiiei® AgCN

(C) weatfer CHOI,

(D) UfEE NHg

e
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25. The states of hybridization of nitrogen
in pyridine and piparidine, respectively
are

(A} spPandsp? (B) sp? and sp®

(C) spandsp® _ (D) sp®andsp

What is the final product (IV) in the
following reaction sequence 7

Toluene —{LMI04 JOIT T,
i |

P20 IV
(A)
(B)
(C)
(D)

Bromobenzensa
Aniline
p-Methyltoluene
Benzylamina

27. Which of the following compounds will
give anly monosubstituted product upon
furthar substitution reaction ?

(A} p-Dinitrobenzene

Bl m-Dinitrobenzens

{C) e-Dinitrobenzena

(D) MNone of the above

28. Which one of the tollowing reagents IS
usad fo distinguish between (CH, ), NH
and GH4NH, 7

(A) KMnO, solution

(B} CgHsS0,CI

() Oil. HCI solution

(0} Dil. NaQH solution

29. Which of the following statements is
incarrect with respact 1o diethyl ether 7
(A) It forms paroxide when exposed to
air in presence of light

It forms oxonium salt

It forms siable complexes with
Lewis acids

(0D} It is weakly acidic

(B)
)

Latest Sarkari Jobs, Govt Exam Results,
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30.

H.

33.

Which of the following statements is

cormect with reference to benzaldehyda 7

(A) Itundergoes Cannizzaro’s reachion
in presence of a base

(B) N reduces Fehling's solution

(C) It forms aldal product with a strong
base

{0} K gives p-nitrobenzaldehyde when
nitrated with mitrating mixture

Which of the tollowing groups will
decrease the acidity of phenol when il
is prasent in the benzena ring 7

(A) = NO, (B) — CH,

(C) —CN () —-Ci

Which one of the following statemants
& wrong with respect to alcohol 7

(A) Rectifled spirit consists of 8959
ethanol and 5% walar

Absolute alcohol is 100% sthand
free from watar

Power alcohol conigins 90%
ethanol and the rest igpetro-diess
Denatured spirit contains 90%
athanol, 9.5% methanol and 0.5
pyndine

(B)
(C)

(O

Phosphorus pentachloride does nd
react readily with

(A} methanol
(C) diethyl ather

(B) acetona
(D} aniline

The rate at which ethanol reacts with
HCOGH (1), CHCOGH (1),
(CHg),CHCOOH (IIl), and
(CH.),COOOH {IV) in presence of an
acid, follows the order
(A) I=1=1ll=IV

B) IV=llz=ll=1

{(C) ===V
(D) M=N=I=
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26,

27.

28.

29
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ferfa s 2t 2
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(D) ot =g e

(CH3)y NH #T CHyNH, % & a2
e & fou far 1 8w sfiesds =
I R 7

(A) KMnO, =&

(B) CeH:S0.CI

(C) Dil. HCI 9=

(D) Dil. NaOH =t&t

T pen F At 4 P d & S e
TeAd & 7

(A) W < IOTETE 6 38 T E i
T4 H 98 TRITES Wl

TR AT FE JH R

wife 39ve & wra 9 TR e S e
TR FHAN e v 2

(B)
(<)
(D)

He
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31.

32.
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T=rafets & g=v d e §
FEATEE ?

(&) = ) Ffeuf F g8 S &
e & T

(B) = wlan & Hie #1920

(C) =% Geiga §HEF & WY TFE 308
TR

(D) a—w%ﬁ,ﬂhmﬁ?@m%mm
AW 98 p-agraaretaie 2w i

etier o atfead Srgel A B B aw = A @

i1 HE FE] S = HE R 7

(A) —NO, (B) —CH,4

(C) —CN (D) -Cl

wewEe & =t o Fr i @ Fe e

e 2 7

(A) Tt fEafz & 95% ga+Te it 5%
it e 2

(B) ditas seweE d A IEt & 100%
AT BT 8

(c) wﬂ?rﬁnm%mmmﬁ%_

i R R G

Tl e | 90% 3999, 9.5%

feTe i 0.5% s e 2

TR TR S TR e s

FA]

() TaeaTa (B) WA

(C) S3amei R (D) U

atee %) Iufeufy d o 21 8 edais
HCOOH (1), CH,COOH (I1),

(CH4) CHCOOH (111, 37
(CH.),CCOOH (IV) ® sfirfan o @
ERiC AR ARk

{ﬁl} ===V

B) Waill>l>]

(C) N>li=]=IV

(D) W>V>1>1

(D)
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35.

36.

37,

38,

39,

The reactivity of CHZCOCI (1),
(CHL,CO),0 (), CHLCO00CH, (11T,
I:HHI!II'J-'Z:IhJH‘E (IV) towards nucleophilic
reagents lollows the order

(A) W=lli=ll=1, (B) ===V
(C) IsN=M>IV (D) M>1>IV>i

The bailing paints of
CHLCHLCHL.CHL0H (1),
(CH4)CHCH,OH (i) and {CH,)COH ()
decraase in the arder of

(AY 1=M=1 (B} N=1l=i

(C) Mi=1l=I (D) I=li=1

The order of the basicities of groups, viz
OH-, OCH5~, NH;~, CH," s

[A) OH"<OCH. <NH, < CH."

(B) CHy <NH; < OCHy < OH-

(C) OH = 0CH; > NH;™ > CHy"

(D) OCH, < NH, < CHy < OH-

On treatment with sodium hydraxide,
glyoxal gives mainty sodium salt of
(A) glyceric acld (B) glycine

(C) glycerol (D) glycolic acid

End producls oblained during
ozonolysis of 1.3-butadiene ara

(4&) formaldehyde and ghycol

(B} formic acid and glycolic acid

(C) formaldehyde and glycolic acid
(D) oxalic acid and formaldehyde

Latest Sarkari Jobs, Govt Exam Results,
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40,

41

43.

The reducing agent used in the
conversion of CHy—C= N 1o CHy-CHO
is called

(A} Ranay Nickel

{B) Tollen's reagent

(C) Wittig's reagent

(D) Stephen's reagent

Formation of acelone cyanohydnn from
acatone |2 an example of

(A) electrophilic addition
(B) nucleophilic addition
(C) frea radical addition
(D) nucleophilic substitution

What is the compound C in the following!
reaction sequence 7

HC=C - CH,
__LiAiHg
(A
(B
(C)
()

yB—EE2 LG
1, 2-Dibromopropane
1-Bromopropane
2-Bromopropane _sf;

2,2-Dibromopropane

The reaction intermediate formead du
dehydration of ethanol by conceanirate
gulphuric acid Is a

(A) free radical
{C) carbanion

{B) carbane
(D) carboniumig

Which one of the following method
doas not lead to synthesis @
isopropylbenzena 7

|:-|E|I.:| GEHH + {:H3|:H—E:HE HoS0y
|:E:| {:EHHE -+ EHBCH{GHEHH & P.lc-la

(C) CgHg + CH,CH,CH,CI _ AlCIag
(O) CgHCIl +
CHCHICHCH,  Ma in éther




|:
| OO0 00V 0 0 OO B 0 JDD-66/PGT-CHEM/ TIER-IVX-15
a5, FfFriEeEs ShEdE # 3@ CH,CO0! | 40, CHZ—C = N¥ CH,-CHO e o 3w

(1), (CH4CO)L0 (i), CHyCOOCH (Iil), fau 0, Svor e e 8

CH,CONH, (Iv) i sivrmfiem s s e (&) T Fre

(&) Wsli>li>] (B} Nxl=l=IV (B) Zre = AaEHE

©) I=l>i=V (D) Hi>l>> Il () Fafemram sl "

(D) T & st

36. CHyCH,CH,CH,OH (1), 41, UHEE # UHIH FEETET (cyanohydrin) 4
(CH4),CHCH,OH (1) 31 (CH,),COH ST TR L] O TR R 1
(1), 367 e e 3 1 8 (A) SereTRfE s
(A I==l (By N=1ll=] (B) i g
(C) M=li=| (D) I>li=1i (C) T e g

(D) fFEiflers e

37. OH", OCHy", NH", CHy™ ® a2, = afifdn e § cditfie w7 -
IR 13 & HC=C - CHy — H0804/diHgs0s , p fi
(A) OH- < OCH; < NH,; < CHy” WAy g PBe o
(B) CHy < NH, < OCH, < OH' &) 1, 2R '
(C) OH> OCH;~ > NH,~ > CHy 8 1R -5
(D) OCHy < NH;" « CHy™ < OH~ ) 2T

2 x i (D) 2,22

% Wk TES S SOOI | 1o, vt w2 S B S
g il B el st e At 2
(A ol s (B) feEa A} T Rty
(C) feEiE (D) = A ©) m P —

. | B DR R 44, E;T%ﬂ;iﬁ?jﬁm#aq % I
freraTen sifan 3ems ' ;

X ; ’ (A} CiH. + CH.CH=CH HnS 0
(A) PHEEISES S (B) t:zH:+ i:H:cH{EI:EEHa_EE; " L
(B) I o o e e e (€) CgHy + CHyCH,CH,CI _ach |
(C) whreiEes 3l o v (D) CeHOl +
(D) Hiwifers s7eel 3 wiiens CHLCH(CHCH4

Mu 0w .
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45. Amange the following groups in order of | 50. Whi:;h1 E:;lftml? TDlFC::'i?E ?mﬂ*ECU'BS 15
. S S . expected to be aromalic
decreasing o—and p- directing strangth : (A} Cyclopentadienylcation
—0OH, - Cl, =CHg, =0, = NH, (B) Cycicheptatrienyication
(A} =03 —NH,>—-0H=> -CHy>-Cl (C) Cyclooctatetraana
(B) —Cl>—CHyz-OH>—0">—NH, (D) Cyclobutadiena
(C) —OH=>-NH,>-0">-CHy>-Cl 51.  Which of the following statermants is trua)
2 .
(D) ~CHy>—Cl>—NHy>-OH>-0" Do - R
* = CH_ CH,
46. Which among (a) cyclohexane _— é R fl, e
(b) cyclopentane (¢) cyclopropane 3 EL a f";-l
{d) cyclobutane possesses a Bayer 3 ey
strain of 19°28° at each CH, 7 - Chion-2-haltyy] propans 2 Mstypropen 23
(lert-Butyl chionda) (tartiany BunyiAdoohy
(A) cyclopentane (B) cyclobutane (A) The rate of the hydrolysis depent
(C) cyclopropane (D) cyclohexane on the concantration of nucleophil
(B] The nucleophile attacks the C-atg
47. Which of the following is the and product on the Ei{:E rlJf the maolecul
. - it i opposite to the leaving group
;r:ar: b&nzanalslraahﬂjtli w|-|,!1 H:am::ess o (C) The reaction proceeds wl
WTTEREEL RIS O M simultaneous bond formation a
(A} Monochiorobenzene bond breakage
(B} Dichlorobenzens (D) The reaclion lakes place ¥
(C) Trichiorobenzene carbonlum lon as an intermedial
ng [ . -
Dl H SRR, o 52 In order lo synthesiza,_ri_?phanyi :
() Heao Y pantanol by Grignard reagent methg
which of the following pairs
48. The addition of HCI to Cgh, CH = compounds can ane starl with 7
GHEHE gl'&"ﬁﬁ the major P‘I'Cldul:.‘.l (&) EHH—CHE—EHE—BF and
(&) C.H. CH = CH.CH, H*CI~ sai CHA-CO--CH
-] 3 3 il
(B) CgHg CH,CH, CH,CI (B} (CH4),CH-Brand CH~CO _
(C) CgHg CH, CHICH CHy (C) EHg—CHE—GHE—GH?—ED—C_
(D) C,H, CH(CI) CHyCH, and Giiy-8r
49. A Friedel-Craft's reaction of benzene CH—CO-CgH;
with dichloromethane in presance of | 53, The quantiw;ﬁf enthalpy needed 10
anhydrous AICI, produces the carbocations, 3°, 2%, 1% and *§
) . H from the respective precursors, fol
(A} Diphenylmethane thes circlar E
(B) Triphenylmethana (A) 3°52°51°>*CH,
(C) Benzyl chioride ‘.g:]} f“ > E: = ét > EHE
: { Tl > = a
(D) Benzal chioride D) *CHy> 1°>2°> 3"
A
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46,

47

48.

R V000D 0 0000 O
45,

fi=t T4E 1 o- iR p-am Raraet ued
%A | gamEy

~OH, - Cl, —CH5, -0, - NH,

(A) =075 —NH,> ~=0OH > ~EH,>-Cl
(B) ~Cl=~CHy>—0H>—0">~NH,
(€} —OH>=NH,>—-0">—CHy>-Cl
(D)" —CHg>-Cl>~NHy>~0OH>-0"
(a) #gFEtEmEA (b) @EFATIZT
(c) WIS (f) Wreitasg2 i wfi CH,
W 19°28" S w1 91 fead 2 2

(A) ETEETE (B) AEFIGA
(C) dFFen (D) SRFeRA
i T o AT e o) aufenf b
o9 4fam o sfufn B 8, e fma g
F i ST SeE e R 2

(A) HEEATRE

(B} ATl

(C) Seimaf=m

(D) T TR

CgHg CH = CH.CH, ® HCI firer & we
st IFmE A #

(A} CgHg CH = CH.CH, H*CI#am
(B) CgHs CHLCH, GH.CI

(C) CgHg CH, CH(CI) CH,

(D) CgHg CHICI) CH,-CH,

. UAEER AICL, 1 Iufeaf § Beeiine w

EZGIR

(A) Efkdwfies
(B) e
(C) W= wnEe
(D) wewet FwrEE
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ot 38 e sty ER ) s 2
(A) Cyclopentadienyication
(B) Cyclohepiatrienyication
(C) Cyclooctatetrasne

(D) Cyclobutadiene

sl = for e A S a2
CH, CH
I~ H.O i
H.C - ||: cl —— H G rl.: OH
GH CH

2-Chioro-2-Mathyl propane 2- Mesthyipropan-2-ol

(beet-Buty| chiaride) (terfiany ButylAlcobhol)

(A) FE-HTEZA T W e
HEm W il wmre

(B) @re-are s & aiige 3 & ae |
C-9THT] EHAT A B

(C) v %7a 74 3fit 579 724 & |
rfiaiER S &

(D) ST 37 T 0 SR I

BT Srfatea) e f -5

BT snfiria w8 2 .o e
1 wvere # o fere Fre 0 4 v ot
Tt @ F1H F1 JHT o o w7
(A) CHg-CH,-CH,-Br 3 CH,4-CO-
CeHe
(B) (CHg),CH-Br 3l CH;-CO-CyH,
(C) CHy-CH,-CH,-CH,-CO-CgH, ¥
(D) CHy-CH,-CH,-CH,-Br 31
CH4-CO-CH,

3°, 2°, 1° 3 *CH, 1 Fwi®I= 37
AU T & & e vt
FIFH B

(A) 3"=2°>1"=*CH,

(8) 2°>3°>1%>*"CH,

(C) 1">2°>3">*CH,

(D) *CHy>1°>2°>3°

— AN |

]
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54. The hydrocarbon obtained during the

E5. Carbon tetrachloride is 8 commaonly

reaction : CH,CHMgBr + CH,CH.-C

= CH 7
{A) methane (B) ethana
(C) propane (D) butana

used liquid in Hre extinguishers 1o

combat small fires. This is because

(A) itis made up of only covalent bonds

(B) it has no flash peint and
non-inflammable

(C) it has low melting poin! and bolling

paoint
(D} Hs vapors are non-poisonous

56. Chlorobenzena is less reactive lowards
nucleophilic substitution reactions
when compared to chloroethane, This
s due 1o
{A} theinductive affect by phemyl group
(B} the formation of less stable
carbonium on

(C) the increased bond strength by
resonance effect

(D) the hyperconjugative effect

57. An organic compound with molecular
formuta, C-H,Cl, gives a hydrocarbon,
on treatment with alcoholic NaOH that
decolorizes bromine in CCl,. The
compound, when haated with aqueous
NaOH gives ethanal. The dihalide is
(A) CH5CHCI,

(B) CH,(CIHCHCI
(C) a mixture of CHs= CH{CI) and HCI

A 0 0 0 L 0

58.

59

61.

(D) none of these

A*
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&0,

The mixture ol Iwo organic Droma
compounds on treatment with Treshly
cut sodium in dry ether, gives 2.2-
dimethylbutane as one of the products:
The two bromo compounds are _
(&) isobutyl bromide and methyg
bromida
(B) isopropyl bromide and ethyl
bromide
(C) tert-butyl bromide and propyl
bromide
(D} tert-butyl bromide and eth
bromide '

|3

In the reaction of optically active &

chiorohexane with aqueous sodiu

hydroxide to give 2-hexanol, there is

(&) retamtion of configuration

(B) inversion of configuration

(C) retention and inversion @
configuration in eqgual amounts £
the products

D} nosignificant role of stareochemisi

Which of the following statements is i

true aboul enantiomers 7

(A) They have the sﬁ_"i’ﬂé'speﬁ
rotation

(B} They have the same melting af
boiling pomts

(C) They are nothing but nd
supenmposable mirror IMages

(D) They have the same chemid
reactivity

Which of the following statemants

correct for geometnical isomers 7

(A} The trans-isomeris more polar
tha cis-isomer

(B) The boiling point of the trans-isof
s less than that of the cis-i50

(C} The malting point of the cis-ison
is lesg than that of trans-iso

(D) The stability of cis-isomar s gred
than that of frans-isomer




A 0T T I DO 0 O
54,

55.

57.

CH4CHMgBr + CHyCH~C = CH —» 7

58 sl % wog fren gen EgmA B
(A) T (B) ¥
() T (D) =7

Bt w1 # fved ¥ fm sfeams |

THTE: R & Sqraren 24 B 2 He

STFANES | $6H FOOTE |

(A) T el TEEETE o H A

(B) IEHT TEAATE AE EA 1T =8
EEGEMIC kAo

(C) R ST A TS a5+
BR

(D) Fe=h1 e edten 78 B

ARG 1 o1 1 FeIr et

=it ulrams sffEa d s

AR e # | s R

(A) TEA= waE g T wims

(B) =0 Tor FmiEm s e F1

(C) P F qitomy =g gan T4 =1

B
(D) B Tea wims
C,H,Cl,, 311033 3 51 0 Feig
AR FHTA 1 OO, § e e
Hﬁ’ﬁTﬁlﬂﬁmaﬂHﬁﬂm stufEma
T e o ¢ | e 99 Ty
NaOH 8 7= e =1 2, 7 =30

e FEremE R

(A) CH4CHCI,
(B) CH,(CICH,CI

(C) CH,=CH(Cl) 3 HCI = frsm
(D) 39H & =1E 7
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2 w1 st A 5 foum i yre g
I Tl #Te U HTea & syt e 8 o=

2, 2- umeTee 4% UF SEm A g | )
ar e

(A) THEERES FEE o fuEs e

(B) CHIHTET WS W 3AE wEs .

(C) ZE-=qewmal arse S divg dmge |

(D) =gz diTes o 39S s

A 1 HTh 2T e ) Feiid |ifeas

EgraTeE @ sfufia @ 2w e

KRG

(A) Tam s

(B fammwyEEme

(C) 3eume = URH = g5 @ s =
ST ST AiAe e

(D) Tamrm wer ot Fi8 weea gt
e

whifErss (oA s a e d e
i FuT A aE R 2 I
(&) 3 v dn e wmw e e
(B) ST TR, W A TR BT
(C) F% 3N T8 78 afes s=WE 3
) HTe 31 | w2
(D) Fh TRt s v
AR
Ty wovEE (O an § T g
BRI A AR 7
(A) - e T (cia) T A Fi
e v # i,
(B) ZFH-UHENE F1 = e 8 '
FH FA 8 : ;
(C) o it s e vt L
BATR [
(D) TaoadnR 1 B ot |
T B 2

.
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&82.

The cis-hydroxylation of 2-butena can
be possible by

(A} the addition of 2% KMnQ, solution
{B) the addition of ozone lo the alkane,
followed by treatment of the
ozonide with H.O,

the addition of peroxy acid followed
by hydrolysis
theoxymercuration lollowed Dy
deoxymercuration

IC}

1D}

The normal C = C bond length In
cyclohexene is 0.134 nm and the normal
C — C bond length in cyclohexane is
0.154 nm. What will ba the length of the
carbon 1o carbon bond in benzene ?
(A} 0.134 nm

{(B) 0.154 nm

(C) <0134 nm

(0} Between 0,134 nm and 0,154 nm

When ethyne reacts with silver nitrate
solution, ethyne shows

{A) reducing property

(B) oxidizing property

(C) acidic property '
(D) basic propenty

On electrolysis of agquecus polassium
maleate, tha gas collected at anode is

(A) sthyne
(8) ethene
(C) ethane
(D) a mixture of ethane and athene

The structure of monomer unit In
‘neoprana’ rubber is

(A} CH,= C{Cl) - CH = CH;

(B) CH,=C(CHy) -CH= CHa

(C) CH;= CH-CH=CH;

(D) CH [Cl)=CH=CH=CH,4

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click
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&7.

B9.

The addition of HI in the presence of
banzoyl peroxide does pol lead 1o
anti-Markovnikoy's rule because

(&) The HI bend strength is 1oo high 1o
be broken hamaolytically

(B} The iodine free radicals formad
readily combine with each other g
give iodineg moiacule

(C) HIisa reducing agent

(D} lodine free radical readily

combines with hydrogen Ire
ratfical o form HI

Which of the following s an exampled
Hunsdieker reaction 7
(&) CH,CH,COOH
(1 AgatH(2) Brg, LLly  _ CH,CH.E
20H,CO00H:
(1) NaOGats 12) !T'_'_Jlr
GHEGEJEHPGDDE??;IE,
CoHsCHO + CHiBHO _ Base]
CgH:CH = CH CHO

CgHsCHy— %9250, € HCHI

{8}

{C}
(B}

Which one of the foliowing reactions’
not an example for Diels-Alder reachal
{A) Reaction of 1,3-butadiena
ethene 1o form cyclohexena
Reaction of 1,3-butadiene W
ethyne ta farm 1, 4-cyclohexad
Reaction of 1,3-butadiene W
propenal to form 1,28
tetrahydrobenzaldahyde
Reaction of 1,3-butadiens with
to form 3-bromo-1-butens §
1-bromo-2-butena

(B)

(C)

()




0000 0 O O AR
62, 2w g AgfacT TR TEE | 67

(&) sifftEE 2% KMnO, Hie
(B) =R H A e AR H0,
% Ay aitaree ) i

(C) ieTia s Tt #1E B TS

§3. HgaATEad (cyclohexene) H b
C = C =9 e 0,134 nm BFfl & 3
ORI (cyclohexane) 8 FAE C-C
s e 0,154 nm B B 1 3R w e
A e o o s et et 7
(A) 0.134 nm
(B} 0.154 nm
(C) <=0.134nm
(D) 0.134 nm 30T 0,154 nm % A=

64, o e AISEE Hiel & quTE o SiiulE
FIHT B, 79 B 2 R
(A) o
(B) ATrGL TP
(C) =ty T
(D) et Teni

65, el rEfiEn Ueie (maleate) % U | 60,
ez | wAte () wE 0 e Ee
(A) T
(B) =4 (sthene)

(C) 3 (ethane)
(D) THe 3 zfum = o

6. ‘neoprene’ TAZ I TIHTH 1 T BT B
(A} CH,=C(Cl)—CH=CH,
(B) CH,=C(CH,) - CH=CH,
{8 'EHE =CH-CH = CHE
(D) GH (Cl = CH - GH = CH,

&8.
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e doraEs & aufeaf F = e
# graiEE = Fem & e o @
ELE?

(A) HI & g wEEg ww @ o
T P T | e LR E

(By Tt aqfn e vErh A o
Tt AT 3 30 2

(C) HIE g il &

(D) ST v gers ST | g
fererer 2Etem OF gors | e B
¥ HI 79T B

frm 8 & wmesr wvfe = e
FHEE?
{A) CH,CH,COOH
(11 Aga0 (2)Bep, GOy CH,CH,Br
(B) 2CH,CO0C,H;
__{)NaOCoHg (2 H° ,
CH4COCH,COOCH, o
(C} CgH:CHO + CHyCHO _ Bes=
CgH.CH = CH CHO
(D) CgHgCH4 222 , CgH.CHO

frm # ® ] wfifen Eem-seEt

syfirfarm =1 e A 2 7

(A) 1,3 - =g i gue o e ST
Formrdt wTgercTEar 14 et B

(B) 1, 3- SHZTEEA F 19151 &
1, 4 - HEFATEAITEEA S 5 A

(C) 1,3 SIEERA T H WM 1, 2,5,
§ SERERaTE eRTa s 5 ST

(D) 1, 3 SEEEA T HE FHam 3 -3 -
(= A S-SR 55
i

i |

= A
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FioR

71

Te

74,

75.

Ai

Which of the following statemants 1s

Incorract with respect 1o a carbanion 7

{A} It is formed by heterolytic bond
fission

(B) Itis diamagnetic

(C) Its hybridjzation is sp? and
geometry is planar

(D) It behaves as acharged nucleophile

Which one of the following methods is
used for the extraction of copper from
its ore 7

(A) Carbon-reduction method

(B) Leaching with aguecus solution of
MNaCH lollowed by reduchion using
an active metal

Self-reduction method

The electrolysis method

(C)
(O

Which of the following is not the mineral
ol magnesium 7
{A) Magnesils
(C) Dolomite

(B) Magnetiia
(D) Kieserite

A refining method called “Cupallation”
is mainly used in the metallurgy of

(A) Calcium (B} Copper
(C) Aluminium (D) Silver

The anode mud in the electrolytic
refining of silver contains

(A) Au {B) Au, Pb
(C) Zn, Sn, Au (D} Zn, Cu, Au

The metallic lustre exhibited by frashly
cul sodium piece is explained by
(A} oscillations of loosely bound
electrons
diffusion of sodium lons on the
surface
excitation of free protons of sodium
matal
(D) conversion of metal atoms to its

(B)

()

00 0 00 A

7B.

78.

78,

shining oxide
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BO.

Which of the following stalemenis:
regarding aluminium is incorrect 7

(A) Aluminium is a hight metal with
considerable strength

Aluminium is a good conductor of
heat and alectricity '
Aluminium dissohves in hydrochlone)
acid and nol in concantrated sodium
hydroxide soiution _
Aluminium does not cormode readiy
because of the formation of
prolective coating of aldminium
oxide on ils surface

(B)
()

(B)

Which ol the lollowing materias
contains the highest percent of iron 7
(A) Steel {B) Pig iron

(C) Castiron (D) Wrought ircd

The ganeral alectranic configuration @

coinage metal |s

(A (n=1)d%ns® (B) (n—1)d'%A

(C) (n—1)pens? (D) (n-1)d"nd
o

The magnstic moment of a transi

metal ol 3d series is 6.92 Bol

magnetons. Its electronic configural
would be

(A) 3d*as® (B) 3dB4s’
(C) adh (D) 3d° 450
The IUPAC name of

[PNH4),(NO TS0, is

(A} tetramminechloronitroplatinumy
sulphate

(B) tetramminechioranitraplatinu |

sulphate '

chiorotetramminenitrogiatinum|

sulphate

chlorenitroletrammineplatinum|

sulphate

(<)

(D)




70.

Tl

T2

73

74,

75,

FEEE Fa A TR R TR R 7

(a) Fer F etfalis e Eevea d
Fia 2

(B) == R aE R

(C) FeTHA sp? R i
TR B

(D) o7 Wi fsiite SR S e

w74 W 3% e | e F o e

& ol I A R 2

(A) TR -3TTEEA TR

(B) NaCN % Feftg == 7 fammem s
AT 7 WA BT 5 I R S

(C) ¥ WTaH wiish

(D) T somzEdE

o ddsm it s et @il o
(A) e (B} WHes
(C) Eie (D) #Htz

= (Cupellation) e gfrerm w5

ﬂ%@ﬁ%ﬂﬂimﬂaﬁﬁ,mﬁﬁlﬁ%

(A) FeriEad (B) w0

(C) TR (D) =

=il % Fregg, e oftsm § At

(=) o sy feremT i 2

(A} Au (B) Au, Pb

(C} Zn, Sn, Au (D} Zn, Cu, Au

Hifeam F 9 w2 gws § 9 Ay 96

e &1 @ 3o el 2

(A) SETF 9 B SEEREAY At

(B) wifZan S & Ea8 I TE

(C) wHifzam ur & yad G2 1 e

(D) =¥ T i Erdie SieEEE o
aftE
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wrfafiam & an i Fre i & # Fe

T B ?

() i e TeE 3 T SeEE
GG

(B) TR T N Hed # am
T 7

(C) gl By s 1 fmfes
i 2 ot o At EsmEaEs e
e

(D) FaEHan ey aisEEs
T W = e s

T (W) T v
foret 11 | orm 5= 1 a7l AR = winem
GG Ed
(A) T (B) vz =
(C) wealwte (D) et e
Rvere1 TS T 0 T Sl T
FALIE

(A) (n—-1)d®ns? (B) (n—1)d'Ons

(C) (n-1)p°ns® (D) in-—1}dﬁns1r-"_.'

3d F = T UIEH A AT 6,92
Bohr magnetons & | %1 el
FEma Em

(A) 3d%4s?
(C) 3d®

[PH{NH) NO,)(CISO, F1 IUPAC 7 &

(A} tetramminechloronitroplatinum(il)
sulphate

(B) tetramminechloronitroplatinum(lVv)
sulphata

(C) chiorotetramminanitroplatinum(lV)
sulphale

(D) chioronitrotetrammineplatinumilV)
sulphate

(B} 3d%ds’
(D) 3d° 480
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81.

Which of the following complex ion is
diamagnetic 7
(A) [CoFgP~
(C) [NI(NH )1

(B) [NiCl =
(D) [NI{CN)J*

The most stablg-complex amang the
following is

(A) [CdCI "
(C) [Cdl %

(B) [CA{CN) 2
(D) [CdBr -

Vitamin By, is a complex of
(A} Cobalt (11} lon

{BY Cobalt (IIl) ion

(C) Chromium (I} lon

(D) Chromium (IIi) lon

Transition metal compounds are usually
colorad. This is because of the
glecironic transition

(A) from d-orbital to- Forbital

(B) within d-orbitals

0000 0 T

87.

(C) from d-orbital to p-orbital
(D) from d-orbital to s-orbital

Which of tha following hydrated
transition metal ions is colorless 7/

(&) TV (B) T}

(C) Fellll) {0} Felll)

Which of the following statemenis
regarding the complex [CriNH5)gICl; Is
incorrect 7

(A) The complex is diamagnetic

(B The complex involves d“sp”
hybridization

The complex gives curdy white
precipitate with silver nitrate
solution

The complex is oclahedral in shape

(€)

(e
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20.

a1,

Which of the following statements is
wrong ?

(A) Magnesium carbonate is thermally
less stable than barium carbonate
Carbonates of magnesium and
calcium decompose below their
mefting point

Anhydrous magnesium chloride
cannot be obtained by healing
hydrated magnesium chiorde
Carbonates of magnesium and
calcium are readily soluble in walef

(B)
()

(0)

The oxidation number of oxygen i
potassium superoxide is

Ay - (B) + Yz
(C) -2 (D) +2

Potassium carbonatle cannot BE
obtained by a method similar to Solvays
process because of tha fact thal '
(A) KHCO, cannot be converted i
polassium carbonate readily

KHCO, is not stable in solution
KHCO, is more soluble in wals
than NaHCO, o
KHCO, is highly volatile

(B)
(C)

(D)

Which of the following statements abad
aluminium chloride is not comect 7
(A) Anhydrous aluminium chloride ¢
be prepared by heating its hydraie
salt

Aluminium chioride acts as a Low
acid

(B)

(C) Aluminium chloride solulion
acidic in nature
(D) Aluminium chioride is a covalg

cormpound which readily dissoly
in organic solvents

The molecular formula of ‘rad lpad
(A) PbqQ, (B) PbyO4
(C) PbO, (D) PbO



8z,

B3.

85,

AT 1 OV 0 Y0
81,

o 3 &) e i e R 2 2
(A} IEBFG]:’" (8) [N'r[:J,,‘F‘
(C) [NI(NH,)eI?* (D) [NI(CN),J*
et 1 A i oo s 3

(A) [CACLE-  (B) [CO(CN)P
(C) [Edli]f‘ (D) [L';clE.rd]:*‘

H21tA B, yo a8
(A) TR (1) 315
(B) wraTee (1) ST
(C) shifm () #7m
(D) wifewm (1) 3

. o e % A wr it 6

THHTHAI & ol HEHY
(A) dFeaH twsfa

(B) o= i

(C) deeffad pefig

(D) omufta# sHaf

= 8 8 e s e o a1 % STEE
TEFER § 7

(A) TitIv) (B) Tl

(C) Fe(ll) (D) Felll)

[Cr{NH)ICL T3 FHam o Fa 4 8 e

HUH e B 2

(A) wa T 2

(B) H# # dlspd wE BT B

(C) Tt 322 Ui & Wy Ot 261 <1
HhE A 3 2

(D) HET SR ¥ ST Bl
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89,
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Foda s e TEm 7

(A) TS e a1 H A e
# %0 e g @

(B) Hriis il Setieam & FiElz 3%
T % A g e 2

(C) = wean gnffan shneEe 8
TS T SR T O A

(D) Amfirm o Sefias & wme o

H i faey

TEfEm grariEEe 4 sl 6
TRl HiE 3

(a) -2 B) +%
(G} —2 (D) +2
TRTTHan e Hied o v S 1

T 81 TR A HEA T 0 1R

(A} KHCO, =i 9reiitam &2 § g
fteda =l o = wwm

(B) KHCO, ¥ =i # feige e aen

(C) KHCO, Wi ® NaHCO, # wfes
EGEE

(D) KHCO, ¥ arufie 2

g v AT o o1 H (=01 1 3 &
g w Tl 2 7
(8) wbEm et seEE w1 9EE
Y ] A S Al
Eﬁ?ﬂ%
(B) TrAMEmm FEe wiam s =
it foman @

(C) Wﬁrﬁw FAMEE Hiet F=Ey |
AT BT 8

(D) el FEYE aW UF e
i & A1 FEE e | e
5 T B

“etrer W’ = anfrEm gE @

(A) PbyO; (B) Pb,0,

(C) PbO, (D) PbO

e



98. Which of the following statements about

JDD-66/PGT-CHEM/ TIER-IWX-15

92. Silver chloride readily dissolves in
agqueous ammonia but not in water ozone is incomect 7
because (A) The ozone motecule s angular in
(A] ammona s mora basic than walter shape
{B} silver ons lorm soluble complex (B) Ozone is much mare powerful
with ammconéa oxidizing agent than molecular
(C) ammonia reacts with chloride on oxygen
to form ammonium chloride and (C) The ozone layer protects the earth's
silver lons -
surface from an excessive
[D]‘ silver chlonde gEtE solvated with conceniration of harmful UV
ammonia molecules radiations
3. Which of the following species has the (D) The Gonversicn of oxygen 16 azong
largest value of molar conductivity in its Is an excthermic process
aqueous solution ? 98, Which of the following carbides is ionie
(A) K* (B) Na® in nature 7
{c) L (0} F (A) SIC (B) MoC
94. When phosphorus is heated with 4] S0 (D) Al Cq
;ﬂﬂ;ﬂ’rramd nitric acid, 1 reduces the 100 Kl ety i b by il
]
(A) NO B) CO
W) RO Ll (C) NO. :['}] H"Eﬁﬁ -
85. Which of the following o 101. :n hg.rdmgen peroxide, the hybridizarj
alectron aftinity about halogens is nvolved in oxygen atoms is
(A} Fy<Cl,>Br, (B] F,<Cly<Br, 1) ep (0 oot
C) Fo>Cl,>Br, (D) F l,< B | ]
(9 To>Gle>Bey \H) Tg> k<80 102. The volume of ammonia obiained whal
96. Ammonia gas reacts with excess of B0 litres of dry hydrogen reacts wil
chlorine to give excess of dry nitrogan when all volums
(C} Ny (D) NCI, ?AJ 0.02 m-r1 (B} 0.03m
(C) 0.04 (O} 0.06 m
87. lodine reacis with cold and dilute
potassium hydroxide producing 103, Orthophosphorus achd is
(A} KI+KOI (B} Ki+KIO, (A) neutral (B} tribasic
(C} Kl+HIO (0) KI+HIO, (C) dibasic (D} monobasic

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click




g2.

a3,

av.

foer Feee sl sl 4 g

e fea & & e wft o <, i

(A) smTEE O 8 i s e

(B) avuitfer & | e v s e

R *

(C) FIHIES AR ¥ g e sl
Faal & 3N smifam wihee st
s o s B

(D) aretfan = % A foeE e
HuTE] & i @

= 1t Fomm a0 3w siefe O 0

SRR WYeAT STeraal 2rdt

(A) K* {(B) Na*

(C) Li* ) F

W o AEE I A e F A
TR = & o 37 = 3 ST R
(A) NO (B) NO,
(C) NyO, (D) NyO.

Bela o 91t § e 4 # emi
B 51 360 TF 8 7

(A) Fy<Cl,»Br; (B) Fy<Cl<Br,
(C) Fy=Cl,>Br, (D) F,>Cl<Br,
@?ﬁmﬁm%mwﬁmmmﬁﬁm
HHEAT R
(A) N+ HCI
(C) Ng

(B) NH,CI
(D) NCl,

5 i T TR R E R

%1 shfFar | fofn g 2
{A) Kl+KOI (B) Kl+KIO,
(C) Kl +HIO (D} Ki+HIO,

98.

100,

101.

102.

103.

JDD-66/PGT-CHEM/ TIER-IFX-15
e & 3R o Py S e s e b 2
(A) IS =1 30 AT H F0ir 5 B
(B) v Sl o AT AT A
EGEUGIRCIE i EuE i)

(C) St shi ey gkt oft v 0 wiFmer
uv fafem & s S a
18 AT 2

(D) =ifFrs= 8 st &1 lads @
Aregaafia 2

AT FEm wEEs e L 7
(A) SiC (B) MoC
(G) CryC (D) AlC,
(A) NO (B) €O
(C) NO, (0} N.O
Etar SeaEE § st o
GACEIIE e
A} sp {B) sp*
{C) sp* (D) spig?

=4 |l gftar STP 4 a1 wa F, w
B0 Ferer =1 115 B2er w7 e 1o e
# srftshen e 8, et g e =1
e £t

(A) 0.02md (B} 0.03m°
(C) 0.04 m? (O} 0.06 m?
HTTRTERE 75 1 B

(A) FEEHA By e
(c) feams (D) TERETER
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104,

105.

106.

107.

108

Ai

Which of the lollowing statements aboul
sulphur dioxide is not correct 7

(A) Sulphur dioxide is an angular
molecule

Sulphur dioxide is an acidic oxide
Sulphur dioxide is an anhydride of
sulphuric acid

The S - O bond length is smaller
than the expected value

(B)
(C)

(D)

Which of the following statements aboul
pyrophosphoric acid is not correct 7
(A} It forms four series of salts, e.g.
MaH,P,05, Na;H.P,04,
Na.HP,0-, and Na,F;0

It s oblained by healing equimolar
mixture of ortho and
metaphosphoric acid a1 100°C
On boiling with waler, it produces
orthophospheric acid

On strong heating, it gives
mataphosphaoric acid

(B)

(C)

(D)

109.

110.

111,

112,

Consider the reaction:

xNaHSO0, + yNalOy — zNaHSO, +
2Na, 50, + H0 + |5 L

The coefficients x, y and z respeciively
would be
(a) 2.5, 2
(C) 5.2.3

(B} 5,2:2
Dy 5,3,3

The calalysts used in Haber process
and Contact process, respectively are
(A) MnO,andNi (B) FeandV,0,
(C}) Tiand Cr,04 (D) Cuand Mo

Watar of crystalization in Mohr's salt
and green vitriol, respectively are
(A) 2and 24 (B) Band7
(Cy 10 and 24 (D) 2andB

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

113

114.

Maohr' salt iz a primary standard reagent
because

(A) it is stable

{B} it has light green caolor

(C) it Is cheaper and readily available
(D) its molecular weight is fairly high

Gahlvanized jron is obtained by coating
iron with a thin film of

(A) Cu (B) Sn

(C) Al (DY Zn

Generally nitric acid s nol used In tha

preparation of hydrogen from metals

because

(A) itforms an explosive matal nitrale

(B) itisvery difficult to handle nitric acid

(C) metal becomes passive so thal
further reaction stops

(D) itis a very strong oxidizing agent |

A fluoride of xenon formed by the
reaction of Xe with excess of F, at high
pressure and 25°C, possesses

(A} atetrahedral structure with one i
pair s

a trigonal bipyramidal  struciug
with two lone pairs

a capped octahedral structure w
one lone pair

a capped octahedral struclure
two lone pairs

(B)
(C)

(D)

Which one of the following mixiuras
often used by Deep-sea divers i
breathing purpose 7

(A) O, and Ne (B) O, and Kr
(C) ©,andHe (D) O, and Ar

The reducing power of Al, Ga, In and
ara in the order of

(A) Tl=In>Ga=>Al ‘

(B) Al>Ga=In=T

C) In>Ga=Al=>TI

(D) Ga=in=Al>Tl




104,

105.

106.

107,

Hoh 1 arisianEs & AN 4 e H @ FE

FEH EE AR © 7

(A) HEE T SEATHRIEE T 30 FA

(B) TR EESHTRIGE UF 3w

. AR

(C) HeRI EmeTwaEE I8 HeR[1F 70
T wkgTEE B

(D) S - O%g & sfs geg 4

CEn e R

Rk s e f fr A

FUA AR AR B 7

(A} TB NaH,P.05, Na.H,P,0.,
Na,HP,0, 31 Na,P,0, 33 91
& W & T a2

(B) =Td] sif adwiorifer s & wdlen
fitrur a1 100°C o = % 18 e

(C) I F HTY FaTe A HE SRR
e Pt e 2

(D) 38 =a o an i @ 98
HZTRTEhRIE 9o 24

g afafFm S am e

xNaHSO, + yNalO, — zNaHSO, +

2Na50, + HO + 1,

x, y 3T 2 %07, T[0T SO A

(A) 2,5,2 By 52,2

(C) 5,23 (0} 533

T ufE 3 wiw ufE d aom

EHETE 300 F0:

(A) MnO, 3N (B) Fesv,0.

(C) TisMCr,0; (D} Cu3MoD,

mTet % wam & TEweem o e fdtede
TR O e B

(A) 2324
(C) 10324

(B) a7
(D) 236
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168,

110,

112

113.

114,
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Tt &1 Fa0 48 i e sfieis f

EliE

(A) T fen?

(B) T v} I B0 Bl B

(C) =% W st aavet & foe 2

(D) T AT R T 1 2hT e

Fld W THT TEl] WA 7 S w

T S Hed 1

{A) Cu (B) Sn

(C) Al (D) Zn

W7 H S5 e HHE AR A

&1 Fya e = e amn, =i

(A) == e o ez a2

(8) 3w s Foaen s e 2

(C) g Tfera 21 s @ aftv apme
sttt 5% ot 8

(D) A AT ST F

25°C i % T W Xe st el F
sty B w3 = e A
(A) ST HE 3 S U

AR | 1] 3
(B) Wﬁ!ﬁmﬂ 31 31 A
o

(C) S FEESA Hea s

(D) & st sitfeal & g wETEE
AT 4 HOa]

Tt HEE % Taran e & oo s d |

Fr T =T srE 3T E 7

(A) O,3MNe  (B) O,3MKr

(C) 0,3 He (D) O,3MAr

AlLGa InsTiIzmeqian Faa d
{A) Tl=In>Ga=>Al
(B} Al=Ga=In=T
(G} In=Ga=Al=Tl
(D) Gax>in=Al=T]

=

i)
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115.

116.

117

118.

115,

120.

The geomeatry of stannic chlonde is
(A) tetrahedral

(B) square planar

(C) sgquare pyramidal

(D) octahedral

The metal lead is readily soluble in
(A) sulpunc acid

(B} nitric acid

(C) hydrochlonc acid

(D) acetic acid

EDTA complexometric titration
involving estimation of hardness of
water, makes use of

{A) acid base indicator

(B} metal ion indicator

(C) adsorption indicator

(0} redox indicator

When copper sulphate solution s
treated with sodium carbonate solution,
the product formed is

(A) CuCO,

(B) CuCO, Cu(OH),
(C) CuyO

(D) Cu(HCO,),

In Parke's process ol silver extraction,
the metal zinc acls as a

(A) complexing ageni

(B) oxidizing agent

(C) reducing agent

(D) solvent for extraction

Ferrous sulphate and ferric sulphate
can be best disbnguished from each
other by using the reagent

(A) Fe(SCN). (B) NH,CNO

(C) K, [Fe{CN);] (D) BaCl,

121.

122.

123.

124,

125,

126

127.
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Which one of the Tollowing complex ions
deviates from Effective Alomic Number
rule 7

(A) [Cu{CH),®
(C) [Fe(CN)gl*~

(B) [ColNHg)e™
() [Mn{HED}F;]E*

The fraction of chiorine precipitated by
AgNC, solution from [Ca{NH,)CIICI, is
1 1

(A 5 (B} 4
1 P
(C) E {8]] 3

Which one of the following ks a high spin
complax 7

(A) [Co(NHs)P* (B) [Co{CN)gl*-
(C) [CoFgl- (D) [Fe(CN)g*

In triethylenediamine cobalt (11§
chloride, the coordination number ¢
cobalt is
(A) 3
(€) 5

® 40
(D) &

Tha basicity of the hydroxides of L,
Rb and Cs are in the ordar of

{A) Na=Li=Rb>Cs

(B) Li=Na=Rb=>=Cs

(C) Rb> Cs>MNa>Li

(D) Cas=RAb>Na>Ll

Among the following elements, whig
has the highast ionization enargy 7
(A} Nitrogen (B} Neon

(C} Molybdenum (D) Chromium

Which of the fallowing oxides is ne
(A} MgO (B} AlLQO,
(€) €O (D) Na0




115. =% FEs i wiEmE g
(A) SR
(B) RIS
(C) e =t
(D) AT

116, HA 97 35 g0 faerd

(A) HERIHF
(B) i o=
(C) EgrRilieE s
(D} TEHTER A

EDTA Firciaamizes s 3= T
o aTan a1 A BT B 8, T
ERUIHEAGIE

(A} ST SHE G

(B) T FTHT =

(C) SAfasTrI S

() 1= ES

117.

o I AP T e o e §
sl o wimen &, T| W s IR R
(A) CuCO,

(B) CuCO,, Cu{QH),

(C) CuO

(D) Cu(HCO4)s

78] T =t a7 1 Wi | T A
e witer A #

(A) Treor e

(B) sTeqzEREm w+

(C) STT=EA FHH

Dy Fmerdm & fom Fems

it TR I0E T S B 30 RE
Atk 1 aree] oor B WHE R o wa B
(A) Fe(SCN);  (B) NH,CNO

(C) K,Fe(CN)g] (D) BaCl,

118.

118,

§ 120,
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123

125

127

121.

124,

126,
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At i e g A Bl g
ol Fafem am e ?
(A) [Cu{CN)I*
(C) [Fe(CN)sl*

(B} [Co{NH4)s
(D) [Mn(H,O)ef

[Co{NH,) CIICI, & AgNO ., S % 318 ;
T AT o 399 B B |
1 1 !
1 D [ '
© 3 ©) 3

FeEdasm I TEn g 8 ?
(A) [Co(NHg):F* (B) [Co(CN)gl-
{C} [CoFgl* (D) [FelCN)gF

¥

SefufemRae Frawe (1) wEe w,
FlATeE & T A R

(Ay 3 (B) 4 l
C) 5 D) 6 |
Li, Na, Rb 31t Cs o BErHITse 1 STHgi . .
WFIHE

(A) Na=Li>Rb=>Cs
(B) Li=Na>Rb=>Cs
(C) Rb> Cs=Na=>Li
(D) Ce>Rb>Nax>Li

fore= et o e AT Sl

I % 7 L.,
(A) e (8) s
(C) WierE (D) i l-
e B8 FeE SR EEHE R 7 _ \
(A) MgOD (B) AlsO4
(C) CO (D) Na,O
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128. Which one of the following is used as a
negative catalyst for the decompaosition
of hydrogen peroxide ?

(A} acetanilide

133, The method of zone refining of silicon
is based on the principle of

(A} greater solubility of the impurity in

the mollen state than in the solid Si

(B) sodium carbonate (B} greater rnqbilih_.r qf the pure Si than
(C) oxalic acid ihat of the impurily
(D) platinum (C} higher memng_ of the impurity than
that of pure S
A . p : (D) greater noble character of solid Si
126, Lithium differs from other alkall metals than that of the impurity
due lo
(A) its small atomic size and IoniC 5i28 | 444 poagsium possesses body-centered
(B) its extremely high electropositivity cubic structure. The number of nearest
(C) the low hydration energy of Li* neighboring atoms for each potassium
(D) the high ionic mobility alom in fis crystal structure s
(A) Tour (B} six
130, An aguecus solution of a substance (C) eight (D) twelve
gives a white precipitate on treatment
with dilute hydrochloric acid, which | 135, |f the latice parameters of a given crystal
dissolves on heating. When H.S Is ars :a=0562nmnm, b=0741n
passed through the hot acidic solution, c = 0968 nmand a =90 j =90
a black precipitate |s obtained, The y = B0%, then the crysial is |
substance s a salt of (A) tetragonal (B) gehibrhombi
(A) Hg2* (B) Ag* (C) monoclinic (D) frigonal
(C) Cu* {E) ' Pb** ¢ :
136. Which of the lollowing processes leat
131, The correct set of quantum numbars for LD::EE:E%?EEE in the alomic MUmGER
the unpaired aia::tmnufbrumlneamm is (A) Electron capture
Ay s *:{2 B} 9 1'_1'J;FE (B) Beta emission
(C) 4,0.0.+ %2 D) 4,1,1.+72 (C) Alpha emission
(D} Positron emission
132, The common features among CO, CN™
g NEX s 137. A known mass of a radioactive mater
(A) bend order three and isoelectronic with 1., = 3days, was initially taken. Afl
(B) bond order three and weak field 12 days, 3 g of the sample was |
ligands behind. Whal was the initial mass
(C) bond order iwo and x-acceplors the sampla 7
(D) isoeiectronic and weak field (A) 11249 (B) 136g
ligands (C) 4849 (0) 129
A -30-
| e e s | know More |




128.

129

130.

131,

132

(A) o E i A e

BE R & T F R i e | 133,

FMEE I & w0 O 3 S e 2
(A) wHEfERE

(B) difeyywm

(C) sATaTiers 3w

(D) ==

o el et & oo e B i,

(A) a8 2 Ty S s s A | g

WA
(B) ook o TR stk I BT B
(C)  Li* = i weatas wei
(D) Faht 3= s nfasfem

U 259 % el HIE 1 A Egierh ana

# sifafEfi w0 @ wie omay fawm g | o

A A B EEa EEr e | I aw i
HTE H H,S % e om0 & a4 #t 9t w
a5 fiean 2 | 97 =0 ww wan B

(A} Hgs" (B) Ag* '
(C) Cu?* (D) Pb2 8
Ao T & srfin seeei & aEen
TR R 2 R
(A) 3,00+ (B} 3.1.-1,+%
(C) 40,0+% (D) 4.1,1 4+%

137,

CO, CN Wl NO* o 3frg & agm i §

(B) =9 wm w17 3 Fown &3 iz
(C) &5 3 &1 31 n - T
(D) EEEIFIE S Fw & e

-31-
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fafesia o &3 vl vafl = fagrm
T ST
(A) 3/ Si B Tt fufa 3 smram A

atfer e
(B) amEm e sid sl
(€) Fs Sid sy w1 T e
(D) >7[Em | 3/ SiF1 ATw e
e
qi2irea i G TEn o am
wiHt B | e swn % udE e
A % Al ) f wen
B R
(A) 91 (B) @&
(C) #1= () =HE

At v e & e W
a=0562nm b=0.741 nm,c=0968nm

M o =90°, f=090°, y=00° MaeBazm

i

(A} =R B) mmEmih L

(C) T (D) i

=1 & e vl @ = o e
aEnAgdi 2 ?

(A) FerEE sfimm

(B) forer 3emaia

(C) 3% Ieeata

(D) Wiz Tawa

1y, = 3 Toveel o 9@ ifeasimaE =
AR o § fea w12 fE
g HO0E &1 3 g B T | AeeE w5y

EAT T e 7
{A) 1129 (B} 1369
(C) 484¢ (D) 12g

—AJ

g TR R L
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138, In a nuclear fasion reaction 143. Rate of diffusion of agas is
(A) two light nuclei combine 1o give a (A) directly proportional to its density
fairly heavier nucieus (B) inversely proportional to the square
(B) a heavy nucleus splits into two root of its molecular mass
fragments by itself {C) directly proportional 1o the square
{C) a light nucleds bombarded by root of its molecular mass
thermal neutrons, splits (D) directly proportional to its molecular
(D) a heavy nucleus bombarded by Hiads
thermal neutrons, splits 144. The temperature at which root mean
; square velocity of oxygen gas becomes
139. Solid potassium chloride is a poor aqual to thal of sulphur dicxide al
. conductor of electricity because 327°C, 8
(A) polassium and chloride ions do not (A) 27 C (B) 183.5°C
conduct electricity (C) B54°C (Dy 327°C
(B) both ions ccoupy fixed pesitions in | 442 The value of Van der Wall's constant
solid ?’EE'E _ ‘d for the gases CO,, N, CH, and O
(C)} both lons have uniform fislds of are 3.640, 1,390, 2.253 and 1,360 L2
influence atm. Mol respectively, The gas which
I:D‘ll the I:hargﬂ on the lons is LII"HIﬂITP'Il}!' can be most Easih'r ha |iqueﬁad is
distributed (A) O, (B [:qu
=l (€) Ny (D) €O,
140,  With increasing quantum number, the _
enargy difference between adjacent | 148- A semipermeable membrane used i
orbits of hydragen alom the measurement of osmolic. pressu
(A) incramses of a solution allows the q(‘mm o
(B) remains constant r (A) solvent molecules 1hmugh_ it
(C)} first increases followed by {5} solute malecules through it
Meiorcotiocen {C) baoth sch_rent and solute molecule
(D) decreases through it
(D} none of the above
141. In an atomic orbital, the sign of lobes | 147. Which of the following colligati '
signifies properties is used to determine |
(A) sign of the wave function molecular mass of proteins 7
|:E:| 5ign al the g;harg.e {.ﬂl.} Helative H:IWEF]I'IQEI Vapour pressul
(C) sign of probability distribution (B} Elevation of boiling paint
(D) presence of electron in positive or (€} Depression in freezing point
negative direction (D) Osmotic pressure
142. The compound containing compound with 148,  Whatvolume of 1.0 M HCi must be add
+2 as the oxidation state of oxygen, Is o 50.0 mL of 0.50 M HCF1o.ghy
; solution whose concentration is 0.6
VA). HaO, (B) CO, (A) 125mL B) 25mL
(C) MnO, \B) FO (C) 25mL (D) 10mL
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138.

139,

144

141

142

At Rraves sifafFn o

(A) 3 et =g T R S
. AfFsmad

iB) U uHt fFEam matamnﬂ?

EIGIE
(C) VU Beih! ~gTaTH 0 :gr;h +
e A Wz W #

(D) e ) =y sm i g & e
 fEzaml

a1 e s g ey & FEen

e BT 8, FiE

(&) TrdiEEm 3 FEnEE % A A
CGEEGE G

(B) = wrae aie feafa O g v
YT B

(C) ST ST o WS & UFAE B §

(D) TR S U e Fee R o e e

FEO2E e A § RErea e o e

F57] & Hd 1 R H=

(A) wEAE

B) ferwms

(C) TEet e § ol " W =9 g E

(D) = B

T EfiE o e R e SR
(A) T FE F T

(B) W &1 dha

(C) HuiEm Fved o Hekd

(D) &= = = TSI et & Al
Atfre Foed e s g d +2 1=
STt oht AT feufa w2, am 2
(A} H,0, (B) €O,

(C) MnO, (D) Fy0
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144

145.

146.

147.

148.
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Y0 3 WEW) = 7 B R

(A) e T

(B) FH& vy g9 & 99 99 &
T

(C) 0% vy s=mm = 91 ge1 o i
HETTE

(D) e TS FEG o ST FE

ATt i =0 o Weg &1 AT 5 AT
T OFH SRS ® 427° C A9HH W
Toreren #ren @ 39 e e 8

(&) 27°C B) 163.5°C

(C) 854°C (D) 327 C

CO,, My, CH, 31 0, 6t & fou g3 =
ATe =1 % ‘a’ 1 qrd FE9: 3.640,
1.390, 2.253 37 1.360 L2 atm. Mol2 2 |
M S A R B R W , 9E 8

(A) O (B) €Hy

(€) N, (D) €O,

e o wraedt = urEE Tt s aprs
Err—vna:rmmmw%ﬂﬂnﬁ‘iﬂﬂ
UEIEHRCEIEIE

(A) TEETEE =

(B) faetg am

() T sfn faem s 2

(D) ST 1S AR

wifEs % snfve swmE Faim = o Fe
4 T ST e TR S 7
(A) ETUT ETE ] TN HH A

(B) T F TG

(G) Temrrd F=ma

(D) et 2

50.0 mL HCIH 1.0 M HCI = Fraet g .

et ah BemamfiaEm o ME ?
(A} 12.5mL (B} 25 mL
(C) 25mL (D) 10mL

.
]
i |

—_— A
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149,

150.

151.

152,

Ax

The freezing point of an ether sample | 153

was lowered by 0.60° C on dissolving

2.0 g of simple phenol in 100 g of ether

The value of ebullioscopic constan for

the systemis 5.12 Kkgmoi~' . The results

indicale that phanol in ether is in the

(A) dissociated form

(B) dimerized form 154,

(C) undissociated form

(D) chemically combined form

For the equilibrium, 2N,0:(g) «»

4NO.(g) + Oylg). which of the following

i5 correct 7 -

(A) Ky=K;

(Bl K, <K

(C) HF, > K,

D) K, and K. cannot be correlated
unless pressure of the system is
provided

156,

Solids CaCO, and Ca0 and CO, gas

are kept in a closed vessel and allowed

to reach equilibrium. The quantity of CaO

in the vaasel could be increasad I:ly"

(A) removing some of GO, gas

(B) adding more of CaCO,

(C) lowering the temperature

(D) reducing the volume of the vessel

The equilibrium constant of the | 137.

equilibrium :  SO.lg) + ¥20.lg) ==

SO04(g) is 4 x 10~ atm="2, The

aquilibrium constant of the aquilibriurm:

2504(3) =» 250;(g) + O5(g) would be

(A) 250atm 158,

(B) 6.25x 10*atm

(C) 4 x 10 atm 4

(D) 0.25 = 10%atm

34
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U000 T 0 0 0 A 0 A0 A

The pK, of an agueous solution is 13.54
at 50* C. 1f the solution has pH = 7.0,
then the solution is

(A} alkaline

(B) acidic

(C) neutral

(D) cannot be pradicted

An agueous solution of sodium cyanids
has the pH

(A) greaterthan 7

(B) lessthan 7

(C) equalto 7

(D) outside the range of 0 — 14

The pH of Mg(OH), is 10.45 at 298 K
The solubility product of magnesium
hydroxide would ba

(A} 2.24x10°12

(B) 3.36x10°13

() 1.12x 1071

(D) 5.60x%10°1°

Phenolphthalein is used as an indicate

in the titration of P

(A) acetic acid against polassiu
hydroxide

(B} hydrochloric acid agains

ammonium hydroxide

formic acid against ammoniuf
hydroxide

oxalic acid againsl polassiuf
parmanganate

Tha addition of sodium acetate to 0.18
acefic acid would cause

(A) decrease in ils pH value
(B} nochange in its pH value
{C) increase in its pH value
(D) neutralization reaction

Which of the following acts as a Brons!
acid as well as Bronsted base ¥

&)

D)

(A) Na,yCO, (B} HCO;
(C) OH- (D) CH.COO"
| Know More |



148,

151.

182,

2.0 AT ST W1 100 g 597 ¥ wier
# U= g 4ve & femiE 0.60° C 1
B | 7 o e A T e
5.12 K kg mot~1 2 | uftorm =xfar 2 f&
79t § Seate o

(A) sty feuf

(B) we) feafy

(C)y sveefiamm feafa

(D) Tt AgE feafa

2NOig) <= 4NO,(g) + Oslg) T 7

=g asnad d 7

(A) K, =K,

B) K,<K,

(€) K,>K,

D) K, ¥ K o1 mEE T e
Hehel] o9 o6 74 &1 T4 FTGT A
T

CaCO, 3t Ca0 2 3 CO, fia v
%= 0 H T § 3 3w | v
Bte1 8 | A o o CaO F ar =@, o2
(A) T CO, T4 =i Feen e &

(B) CaCO, %! aafis Zie il &

(C) AT =y fam = e

(D) 7E =1 A e e @

SO(g) + 20,(g) <> 50,(g) 56 T
=1 Tl FEETE 4 < 1072 atnr 12 8
?503{%}: e 280.,(g) + Ou(g) FeH 1
{A) 250atm

(B} 8.25x 10%atm

(C) 4x10%atm

(D) 0.25x 10%aim
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153,

154,

| 155,
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50 C W U Wl Hidt #1 pK,, 13,542 |
g% e H pH = 7.0 2 71, 77 T B
(&) SR

(B) sty

(C) S

(D) Tl e fea = e

HIfEam HEEEE & Sl 9w pH 2
(A) 7 H =

(B) 79 %%

(C} 73 TN

(D) 0-14 ¥ smen

268 K T Mg (OH), =1 pH 10.45 # |
HATEEn RS Ts = feE HEE B
(A) 224 %1012
(B} 3.36%10-'3
{C) 1.12x1011
(D) 5801010

AT e S IR S5 ST o e
FETU AT

() ulife s o wligs defiian
AEETEE

(B) Beteeiifts == ¥ vl ?.mﬂ%im |
ESEIREE

(C) Tl s7ee o whigger amiifam
() ATaTer a0 & fige Teim
T

0.1 M ufafes s o wifem vftdz e
HEM

(A) FHH pH e 1 fimmae

(B) pH Yead wis vitada 49 fim

(C) 3% pH 7=y A 24

(D) FEmE st

P d A =e g v sl el aw

£1of) fev T 8 7
(A) Na,CO, (B) HCO;
(C) OH- (D) CH,CO0"

-~

]
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1588.

160.

161,

162.

Which one of the following stalements

is incormect 7

(A) Silver ehlonda is more soiuble In

vary concentrated sodium chionde

solution than iy puré water

The solubility of Zn{OH)., is highar

in acidic or basic medium than in

neutral medium

The acids HCIO,, HNOg, HC| and

HBr appear to have same strength

in aqueous madilum

(D) pH of pure water increases with
increase of temperature

(B)

(C)

The solubility of calclum arsenate in
water is 9.0 x 109mol dm~'. Then, its
solubllity product s
(A) BOx1077
(C) 28x107"0

(B) 4.6x10-"1
(D) 94=x107

The products of combustion of

ethanethiol, C,H,SH at 208K are

(A) CO(g), CO.{g), HO(/) and SO,{g)

(B) COAg), HO{l}, SO.(g) and SO4(g)

(C) CO{g), CO.(g), HO{) SO,(g) and
S049)

(D) CO.ig). HO(l) and 80.{g)

Which of the following thermochemical
aquations correspands 1o the definition
of enthalpy of formation at 298K 7

(A) Cigraphite) + 2H.(g) + ¥ O,(g) —»
CHLOH (g} AH"

Cigraphite) + 2H.(g) + ¥ O.lg) —
GHHGH “:I: AHE

2C{graphite) + 4H,(g) + Ou{g) —»
2CH.OH (g); AH°

Ctdiamond) + 2Ha{g) + ¥ Os(g) —
CHLOH () AR

(B)
(C)

(D)

163,

164

165

166.
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For which of the following equations,
would AH be equal fo AU 7

(A) 2NO.(g) — NoO,(a)

(B) 4NO.{g)+ Oulg) — 2N,0Oc:lg)

(C) Halg) + % Qulg) — 2H,01)

(D) Halg) +1a(g) — 2HI (g)

The bond enthalpes of H —H and Cl1 - Cl
are 430 and 242 kJ mol~', respectively
It AH;of HCl iz =91 kJ mol™’, then the
bond enthalpy of HCl would be

(A} +427k)mol' (B) —427k)moat!
(C) +214kdmol! (D) =214 k) mol™?

Which aone of the following statemant
is falsa 7

(A} In an endothermic reaclion, th
total enthalpy of products is greats
than that of reactanis

Thea calorific value of g,.{:q;['_i:ﬁl_gma
than that of a carboHydrate

{C) The standard enthalpy of Br.(g)8
lakan to ba zero al stlands
conditions of 298K a

1 atmosphera pressure

The magnitude of enthalpy
neutralization of a weak acid|
smaller than that of a strong ack

(B)

(D)

The units of rate of a reaction and
constant are same fora

(A) fractional order reaction

(B) first order reaction i

(C) second order reaction

(D) zeroorder reaction




158,

160.

J 162,

U0 1 A 00Ol

ey 9 8 = e e R 7
(A) Toet FIEE S wE Hifeaw
 ACRTES | ST e 8 2 g T
(B), Zn(OH), %1 T sl o g
e | IRt e | ik #
(C) =i =M § HCIO,; HNOy, HCI
R HBr 39 3T g T S

mm%
(D) T e Bt ¥ W = pH i @
HeAtirm s R T faeE
6.0 x 1073 mol dm™ &, Ta= fawtmr
T 2
{A) B.Ox10% (B} 48x10°1"
(C) 28x10° (D) 94x107

. 298 KW C,H.SH s (ethanethiol)

& T & I §

(A) CO(g), CO,{g), H,O(/) #H SO, (g)

(B) CO.(g), HO(1), SO,(g) 31 S0O4(g)

(C) CO{g). CO4(g), H0(/) SO,{g) 3
SO0;(9)

(D) CO,lg), HO(1) 3 SO,(g)

208 K T "5z =1 veledt i aframn e

A e s e e e R 7

(A} Clgraphite) + 2H,(g) + 1 O,{g) —
CH,OH (g); AH"

(B) Clgraphite) + 2H,(g) + ¥ O,{g) —
CH4OH (/); AH®

(C) 2C(graphite) + 4H,(g) + Oalg) —
2CH,OH (g); AH°

(D) Cidiamond)+2H,{g) + Y2 O.(g) —
CH4OH (I AH®
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T 8 8 form g & fm aH 38 AU
& ST BT 7

(A) 2NO.(g) — NsO4lg)

(B) 4NO.(g) + O.lg) - 2N,O:(g)

(C) Halg) + % Da{g} + 2H,0(/)

(0) Halg) +1:(g) — 2Hl (g)

H - H 3 Cl - Cl i g vdwd sy9- 430
#it 242 kJ mo™! 81 3R HOIL =1 AH,
- g1 kd mol~' 891, HOIFr e vli=dq Srfi
(A) +427kimol' (B} —427 kJmal
(C) +214kdmat! (D) —214 k) mol!

fres g | S s sm g 7

(A) 3 I SR SRR
AR & Udedt § e e 2

(B) = S geg wWitde F ity
e H i g b

(C) 1 =TT 2 s 2on K3

feufs ® Brylg) # o= gid )
7= a8

(D) FHER e & IR
I | ErETe ddef A
= BT

sifufrar = ot T o & oo s

T vt Bt B

(A) st arfifem

(B) TEETEA A

(C) gEnER AhafEwD

(D) ¥ s fiin

i

e =y
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1687.

168,

188,

170.

The hati-lite of a second order reaction | 171

is ralated to itz rate constant and initial
concentration of substrale as

(A 1y, @

1
5B 2]

_Aq) ..
() bz K (D) tyiz ﬁ]‘

The graph of log k against .—; is lingar
with a slope of (where k, T, E, and R
are rate constant, temperature, energy
of activation and gas constant,
respectively)

EH
M)~ 2 303R

Ea

2 303R

e +

The hydrolysis of an organic ester was
carried oul separately with 0.1 M
hydrochloric acid and 0.1 M sulphuric
acid. Which of the following will be true ?

(A)
(B)
(C)
(D)

Kuct > Kissiog ’
g < kﬂg&ﬂ;
hl—l‘{:l = k|'|25n,j

Tha reaction does not take place
in both the cases

Consider a chemical reaction : A — B.
experiment, the
concentration of A is increased by 1.5
times, the rate increases by 1.837. The
order of the reaction with respect to A is

(A} =1 (B) +1
(C) 1.5 (D) 2

In an when

Latest Sarkari Jobs, Govt Exam Results,
# Vacancies and updates on one click

172,

173.

174.

A catalyst decreases the a:li'.raljmﬂneagly
of the forward reaction by 30 kJ mal™’,
It also changes the activation enargy of
the backward reaction by an amount

(&) equal to thrice that of the forward
reacton

equal 1o that of the forward reaction
which is determined only by the
average energy of products

which is determined by the average
energy of products refative to thal
of reactants

(B)
{C)

(D)

For a first order reaction, the time takean!
to reduce initial concentration by a

factor of % ig 10 minutes. The tima
requirad to reduce initial concentration |

by a factor of _}:ﬁ would ba

(A) 10 minutes (B) 20 minutes
(C) 30minutes (D) 40 minutes

Which of the following statements is naj
correct with respect to heterogeneou
catalyst ?
(A} Most heterogeneous«calalytif
reactions involve the Solit surface
of the calalysi
A solid catalyst present in th
powder form is more effective as
has targer surface area
(C) The catalyst may be deactvated b
heating il to moderalely hig
temperature
Heterogeneous catalysts primari
function by lowering the activatics
energy of the reaction

(B)

(D)

The increase in the rate of a reach
with increase in lemperatura 15 main
dua to
(A} the decrease in activalion enegy
(B} the increase in collision fregquent
(C) the increase in average enargyl

reactants and products
(D) the increase in the number §
molecules having threshold enel
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170.

T FH PR F A - STTgs w Hva
30 =t foa sl Frerer 5 yperl e
HE SH

' 0
(A) Yyp=—

683 1

k (B) L Ta,]
' k

(C) Miz= _H{I_ (D) iz = ™

mﬁ B GET —_:,m e Tefig v R

Toa = w8 (@6 k, T.E, s R Aw
Y 2t fonms, amaE, afFEgr i =l

31 T feTe )
EB EH
@ ~230er ® "R
E, E,
© Yz7sm © *7

0.1 M g s 3i 0.1 Mussfi
A T U TR W AT HET ) H A
e e | e A A e dm 7

(A} At = III-'HEE.{;-.-,

B) Kyei < RI--IE-Eﬂq

(C) Kuc = K50,

(D) 2 e f sfafEm i e 2

A —» B I8 Tt afirn = afan)
e i H W A ) EiEa 1.5 T
AR, AR 1.R3T A EEAT R | AT Ea
4 wEFEmEFn e
(A) —1
(C) 1.5

(B) +1
(D) 2
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e e spnad] srhhe < afEan e
30 kJ mol™" 8 F8 ST 8 | 98 TvE
wyirn € vl =1 off 38 oimm g
WA B
() st sriifer = o T AT
(B) ST AT % W
(C) 3 & 39w w1 w4 & fBaifs

Fosrasare
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175.

176

177

178.

Which of the following statemants is
incorrect 7

(A) The avarage velocity of reaction
increasas with time

(B) A highar order,reaction may be
reduced to a lower order by taking
one of the rate determining reacting
species in excess amounts

(C) A raaction with zero activation

energy is prachcally independent
ol tamperalure

(D] An aulocatalyhc reaction is the one
in which the reaction is catalyzed
by one of the reactants

Which one of the following statemants
is nol true with regard to an electrolytic
call 7

(A) Cathode is negative terminal
(B) Cathode is positive terminal
() Reduction occurs al cathode

(D) Electrons enter into cathode from
the external call

During discharging of lead storage cell
(A)
(B)

sulphuric acid s consumed

lead dissolves at cathode to
deposit lead sulphate

{C) lead dioxide is converted 1o lead

sulphate at anode

{D) sulphur dioxide is liberated at

cathode

A current of 10 A is passed through 1 L
af 1 M HCI solution for 1 hour. Whal
would be the amount of H ons left over
in the solution afler the electrolysis 7
(A) 0.373 mol (B) 0.627 mol

({C) 0.187 mol (D) 0.813 mol

178

180.

181

182
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In electrodeposition of a metal, the
quantity of deposition of a metal on
cathode depends on

{A) shape of cathode

(B} size of cathode

(C) concentration of metal ions in

electrolytic solution

quantity of electricity supplied to the
cell

(D)

In which of the following cases there ks
no evolution of axygen at anode whean
the elactrolysis is camed oul 7

(A) with dilute sulphuric acid using

Pt electrodes

(B) with fused sodium hydroxide using
Pt electrodes
(C) with acidic water using
P1 electrodes
(D) with dilute sulphuric agid using
Cu slectrodes -
r"'ll,' E

If the standard reduction potentials of
Zn and Fe are — 0.76 and — 0.41 V
respectively, what would be the emf o8
the cell involving tha reaction - Fe®*(ag)
+ Zn(s) —» Znt{ag) + Fe(s) ? '

(A) «0.358V (B) -0.35VY
{C) + 147V (D) =117V

Consider the electrode potentials ;

qumrw =-2.37V and

;33' Fa .04 ¥,

The best reducing agent is  *
(A) Fed (B) Mg
(C) Fe (D) Mg
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178. 1 L% M HCIZEMTE10A I F=1 912
" % for s e B ) F oA = A
FrE0 T W M A e e w7
(&) 0.373 mol
(C) 0.187 mol

(B) 0.627 mol
(D) 0.813 mal
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(A} +0.35V (B) —0.35V

(Cy +1.17V (D) —117V
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183. A solution containing one mole per litre
of Gu(NQy),. AgNQ4 and Hg,(NO,), is
being electralyzed by using inerl Pt
electrodes separately. (f the values of
standard reduction pblentials of Ag, Hg
and Cu are 0.80, 0.79 and 0.34 V,
respectively, whal would be thair order
of deposition on the cathodes with
increasing voltage ?

(B} Ag, Hg, Cu
(D) Hg, Cu, Ag

{A) Cu, Hg, Ag
(C) Cu, Ag, Hg

184. Salt bridge used in the construction of
voltaic cells is prepared by using the salt
(A} Calcium chiorida
(B) Magnesium nitrate
(C) Potassium nitrate
(0} Platinum chionda

185. Which one of the following stalements
is correct with regard lo an
atectrochemical cell 7
(A) Cellvoltage is an intensive property
(B} A positive half-cell potential implies
that the elemenl can lose ils
electrons more readily than
hydrogen

(C) The cell potential difference is given
by Ecan = Eanode — Ecatneds

(D) Always reduction reaction OCCurs
al anode

186. The unil cell present in ABCABC...
closest packing of atoms, is of the type
(A) hexagonal
(B) face-centeredcube
(C) tetragonal
(DY primitive cube
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187. Which of the following statements is

correct in the rock-salt structure of an

ionic crystal 7

{A) Coordination number ol each
cation and anion is six

(8) Coordination number of each
cation and anion s four

(C} Coordination number of cation Is
six while that of anion is four

(D} Coordination number of cation is
four while that of anion 1s six

188. An lonic compound is expecied to have
oclahedral structure, If the radius

r

£ ' ;
ratio, .~ lies in the range of
B

(A) 0.732100.820
(B) 0.414100.732
(C) 0.225100.414
(D) 0.155100.225 2

o X

188, In the primitive cubic-unit cell of closesl
packed atoms, the radius of atom in
terms of edge length (a) of unit cell is

R =
&) 3 B) 25
V32 i
€ - ® 7

180. Which of the following expressions &
correct in case of a CsCl unit cell whosé
edge length is 'a’ 7

< @

(A) T.+ry=a (B) r.+r;= u'E
'L'Iéﬂ d

{C) ro+1,=" e (D) ro+rg= 3
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(&) Cu, Hg, Ag
(C). Cu, Ag, Hg

{B) Ag, Hg, Cu
(D} Hg, Cu, Ag
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161. Two ions A* and B~ have radil 88 and | 197. Which of the following slatements Is
200 pm, respectively. In the close incorrect with respect to adsaorption 7
com AB, what ia the coordination enegy
ﬂmEm:';? HF ,,.W \ e (BY Adsorption always leads o a
i ' : decrease in enthalpy and entropy
(A) 6 (B) 4 of the system
(C) 12 o) 2 (C) Adsorption arises due 1o
- unsaturation of valence forces of
192. A binary solid has zinc bland struciure atoms or molecules on the surface
. with jons constituting lattice and jons of adsarbent
occupying 25% tetrahedral voids. The (D) Adsorption increases with iIncrease
formula of the sofid is In temperature
A B) A.B .
i'g] AE ‘D} A% 198. Lyophilic sols are more stable than
(©) 2 D) i lyophobic sols because
193, The fraction of volume occupied by LA) :;Ta f;l;mdal panicles have positive
atoms in a face-centred cubic unit cell is (B) the colloidal particles have negative
{A) 0.74 (B) 0.68 charge
(C) 0.48 (D) 032 {C) the colloidal particles are highly
solvated
194. lonic solids are generally (D) there is strong eilectrostalic
(A} good conductor of electncity repulsions bel_wgen lh:a negatively
(B} softand slastic charged colloidal ”am?.l'.e-?
&) qug brtte 198. The phenomencon called "'p'épnzminn'
(D) highly volatile ' involves
(A) precipiiation of colloidal particles
195, Gold number is the indax for (B) conversion of precipitate 1o colloid:
(A} protective power of lyophobic particles
colloid (C) evaporation of dispersion mediu
(B) number of atoms present in one g (D) impact of molecules of th
of gold dispersion madium on the coliowds
ficles
(C) electroplated gold S
(D) protective power of lyophilic | s Emulsion can be destroyed by
collokds (A} the addition of emulsifier whioh
tends 1o form an emulsion of |
198. Which of the following lons have same type
minimum value of flocculating power 7 (B) electrophoresis with a hig
{A)} Nitrate ions (© pﬁljir:;?‘l' o '1 i
: a arge gquantity I
(B) Sulphite |r:rr!5 . dispersion madium to it
\C) Fhasphate ions (D) continuous stirring at roc
(D) Sulphate ions temperature
A+
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(A) AB (B) A,B
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IMPORTANT INSTRUCTIONS TO CANDIDATES

FedtEErl & e vl s

11. Thisz Booklet contalns 48 pages

12. Please cheéck all the pages of the Booklel
carefully, In case of any defect, please ask the
Invigilater for replacemen of the Bookbel

13. Directlons : Each guestion or incomplete
slatement iz followed by four aliernalive
suggested answers of completions. In each
case, you are required to select the one ihat
correctly answers the quastion or compietes
the statement and blacken (@) appropriate
circde A, B, C or D by BluaBlack Ball-Poirl Pen
against the question concamed in the Answer-
Sheel. (For V.H. candidates corresponding
circte will be blackened by the scribe)

14, Mark your answer by shading the appropriate
clrcle againal each question, The circie shoukd
be shaded completely withou leaving any space,
Thee correct mathod of shading is given balow
i Wiy Wi || W Wil || vemeg r.u-rm! Eovrent Mwttor |
OSCOOSOOIUET 00|

The Candidate musl mark his’her response
after careful consideration

15. Thera is only ong cormect answer 10 each
question. You shoukd blackan (@) the circle
of the appropriale column, viz., A, B, Gar .
Il you blacken (@) more than one circle
againat any one question, the answer will be
treated ms wrong, I you wish o cancel any
armwer, you should completely erase thal black
mriark in the circle in the Arewor-Shest and then
blacken the circle of revised response.

16. A machine will read the coded nlormaton
in the OMR Answer-Shest. In case the
infprmation e incomplete/difieran! from the
information given in the appheation form, the
gandidature of such candidate will be freated
as cancelled.

17. Use the space for rough work given in the
Question Booklet only and not on the
Answer-sheet,

18. Youare NOT required o mark your answers
in thizs Booklet. All answers must be
indicated in tha Answer-Sheet only.
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i) Essay (In English)

. Write an essay on any one of the topics given below 30 Marks
a) Animals should not be used for drug development of medical research
OR
h) A good dictatoris better than a bad democracy.
OR
c) A day without cellphone al picnic.
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i} Letter writting / Expansion of ldeas {In English)
Il. Answer any one of the following ! 20 Marks
a) Recently you read an article in a national newspaper the views of which you do

not agree with. Write a letter to the editor of the newspaper expressing your
disagreemant.

OR
b} “Well bagum is half done®. — Expand.
i OR

c) Write a letter to a friend requesting him to accompany you to Mumbai where
you have to attend to some very imporant work. You have never been to Mumbai
bul your friend has lived there earlier for four years.
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8.

INSTRUCTIONS TO CANDIDATES

Time Allowead
Descriptive Type Examination
Total

: 1 Hour
: 1 Hour

Please check all the pages of tha |

Question-Cum Answer Booklet with
OMR facing sheet. In case of any defect,
please ask the Invigilator for replacamant

ol the Booklet, In casa of any discrepancy |

batween the English and Hindi versions
of any Guestion, the English version will
be treated as final/authentic.

You must not tear off or remove any sheel
from this Booklet. This Booklat must be
handed over to the Invigilator batore you
leave the Examination Hall.

This Booklet consists of Descriptive
Examination — 2 questions of 50 marks.
Lirmit your answer to the space provided
in this Booklet. No additional sheet will
be provided.

Answer the Questions as carefully as you
can. Some Questions may be difficult
and others easy. Do not spend much time
on any Gluestion.

Use of Calculator/Palmtop/Laptop/Other
Digital Instrument/Mobile/Cell Phone/
Pager is NOT allowed.

Candidates found guilty of misconduct/
using unfalr means in the Examination
Hall will be lable for appropriate penal/
legal action.

You should not write your roll number,
name or address in the space provided

for writing answer. In case of letter writing |

name and address should be written as
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